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ANSWER KEY
1 (5) 11 (2) 21 (4) 31 (3) 41 (2)

2 (3) 12 (2) 22 (1) 32 (2) 42 (2)
3 (3) 13 (3) 23 (5) 33 (1) 43 (1)
4 (5) 14 (1) 24 (2) 34 (3) 44 (5)
5 (1) 15 (1) 25 (3) 35 (1) 45 (5)
6 (1) 16 (3) 26 (2) 36 (1) 46 (1)
7 (4) 17 (4) 27 (3) 37 (4) 47 (3)
8 (2) 18 (1) 28 (1) 38 (3) 48 (5)
9 (4) 19 (3) 29 (2) 39 (5) 49 (2)
10 (2) 20 (4) 30 (4) 40 (1) 50 (5)
1. (5 All of the above. 19. (3) The problem in the original sentence is in the use of
2. (3) Junkfood may lead to depression only in children the noun (completeness) in place of an adverb
3. (3) Junk food and its ill effects. (completely). Option (3) corrects this.
4. (5) All of the above 20. (4) A question on parallelism. Two “actions’ are being
' . . Lo . described in the underlined part of the sentence, and
5. (1) Food that is typically high in fats and salt and low in both the “actions’ must be in the same form
nutritional value. '
. . 21. (4) The proper sequence of sentences to form a meaningful
6. @ Satllsfa.ctlon paragraph will be BDAEC
7. (4 Ermch_mg 22 (1) 23. (5)
8. (2) Birthright 2. () 25 (3)
9. (4) Consequence 26. (2) 27. (3)
10. (2) Incompleteness 28. (1) 29. (2)
11. (2) Referred back is redudant. The prefix re means “back”. 30' @) 31' 3)
12. (2) Option (2) is the best way to convey the message.
32. (2 33. (1)
13. (3) The either ... orstructure should always be as closed
X . 34. (3) 35. (1)
as possible to the things that they are attached to. — 37 (4
14. (1) Option (1) maintains the parallel structure in the best - - @
way. 38. (3) 39. (5)
15. (1) 40. (1)
17. (4) Themodifier ‘being in the need of a variety of clothing’ 42. (2) Exorbitant spending during recessions is likely to boost
qualifies for the pronoun ‘he’. As a general rule, the economy
modifier must b eplaced as near tothe noun or pornoun ~ 43. (1) (A) and (B) only
it qualifies, as possible. Option (4) is both, gramatically ~ 44. (5) None of the above
and structurally correct. 45. (5) None of these
18. (1) The first principle’ of sentence correct questions is, 46, (1) 47. (3)
‘never make an unnecessary correction’. There is  4g ©) 49. (2)
nothing wrong with the original sentence. The modifier 5 0' 5) '

is correctlyt used and the part also follows ‘subject-
verb agreement’.
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